28/06/2016 College Lecturer Exam - Law-I|

Ques # :1

What is Tort ?

1) a civil wrong

2) a criminal wrong

3) a contractual wrong
4) a political wrong

HIFeT FATE ?
D veh Srarei e
2) U IR Ay
3) ue w@fdercHs g

4) wer Tl &Y

Ques # :2

Rajasthan Public Service Commission - 2016

Paper : Law-II

Ques: 150

Time: 3 Hours

"Tortious liability arises from the breach of duty primarily fixed by law,such duty is towards persons

generally and its breach is redressible by an action for unliquidated damages." This definition of tort was

given by whom ?
1) Pollock

2) Salmond

3) Winfield

4) Bentham

"IqFcd 1T I - fATRaa FTefeit Fecled Her @ 3cTeet §1aT 8, TE Fecled AT STl & Tidt
g & 3R 3w ST ger I FIATE) SaRT HfereiRe aTfIqfE FT TR wIe T o wFar i |

9HT $Y Ig TR e garr & ardt |
1) Grere

2) arATs

3) faerfies

) degw

Ques # :3

Ashby V. White case relates to which of the following?
1) injuria sine damno

2) damnum sine injuria

3) inevitable accident

4) justice, equity and good conscience

e} ST @IS aTg fAstifhd A ¥ fFad grafaa g 2
D fqarafa & arfa

2) faa1r e1fa & gifey

3) 3raTFHIE gEiTsT

1) ST, | Ud AT

Ques # 4
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General exceptions do not include which one of the following ?
1) inevitable accident

2) triffling acts

3) mistake

4) negligence

AT 394are) # Far afFAfaa agi g 2

Ques # :5

A lady teacher scolded a girl student for not doing the home work.The student was of emotional nature and
she committed suicide. Which one of the following statement is true regarding the liability of the teacher ?

1) nil as she simply exercised her authority of chastisement.
2) she is liable to pay compensation for her death.

3) she has exceeded her authority, hence liable

4) she deserves to be removed from service.

TS HEATRASHT & Teh ST HY IE HTY Tel Hlal I STET | ST TG Ta8Ta hT oY 3R 37 31mea gean
FTe |3rEATRFT & IR-T & TFarTr A AP A A ST T FUT T 2

D) 318 77} ariifes 3 el 3eT GURTeHS 31THR &1 g R ¢ |

2) s 7eg & forw arfagfd &t g ari & |

3) 3@ 379 SR & 31T Y, safoweri |

4) qg qar A AFTA A AT § |

Ques # :6

The case of Fardon V. Harcourt Rivington relates to which of the following exception ?
1) Act of god

2) Statuory authority

3) Inevitable accident

4) Private defence

BRE TH glhIc RfAIe &1 aig AFifrd J & 5 3rqare ¥ grafrude 2
D Sl e

2) et IR

3) 3raTFHIE gEiTsTT

4) TSl gfavet

Ques # 7

In which of the following cases the distinction between sovereign and non - sovereign functions of the state was
diluted by the Supreme Court?

1) N. Nagendra Rao V. State of A.P.

2) State of Rajasthan V.Vidyawati

3) P & O Steam navigation company V. Secretary of State for India
4) Kasturilal Ralia Ram V. State of U.P.

AT F G T IR GF9e] F1f 7 A Wafed ~ArTaT gan faetifra e are 7 gewr 1 fean
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AT YT ?
D) uet AnTeg g 91T A9 U & arg
2) JTEATA T FATH fezmad & are &
3) 4t U3 31 T ATINAT FFI TAH ARG G & arg 7
4) HEGL olTeT TSR FoATH 3ok 2T & arg &

Ques # :8

Which one of the followings does not match properly ?
1) Ashby V. White - Injuria Sine Damnum

2) Chasemor V. Richards - Damnum Sine Injuria

3) Smith V. Baker - Volenti non fit Injuria

4) Haynes V. Harwood - Inevitable accident

frmafRf@ad @ slaar g a@i di e 2

D) et 511 cgTsT - SeorRaT A SaTeiA

2) FHAR FATH RAEH - 3ATH R FoopiRam
3) T ST ST - AT SHIEH 3STAT
%) §T=8 T FRYS - ARIFHIS griesT

Ques # :9

"If homelessness were once admitted as a defence to tresspass, no one's home could be safe' who made the
above observations ?

1) Lord Denning M .R.
2) Green M.R.

3) Lord Atkin

4) Holt C.J.

"gfe 77g AT 1 veh TR IfaaR 1 aara TSR FT oA s o e o1 st 78 gftra =i
THhdT ¢ |" g AeTor R R 2

1) aré 3feier ,uw 31X

2) T, TH 3R

3) oS wefesT

4) gl , W . .

Ques # :10

A man was going in dark from one place to another and came in contact with a live electric wire and died.
Which one of the following is correct ?

1) no one is liable as he should be vigilant

2) no one is liable as it is merely an accident

3) the Electric company is liable because it owes a strict liability
4) the Electric company is not liable as it takes only a routine care

U oI 3O A Teh T W GEY T I AT T AT AR I # 93 faggd aR & 9 & A 77
a1 st Rega vare ot | a1fdes fruRor & waey F efaR@a A ¥ wla arFua wdt e 2

D) foraft o1 AET FiifeR 39 ATaenet g AT o |

2) Tt &1 78T ariifer I AT U g § |

3) faege Fdst #1 Fifh 36 FoR arfea § |

#) faega Fraeh &1 78 FifF Tg Fae AT SEHTT AT § |
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Ques # :11

The case of M.C. Mehta V. Union of India, AIR 1987SC 965 relates to the harm caused by the escape of which
thing ?

1) Oleum Gas from Shriram Foods & Fertiliser Industries, Delhi

2) Smoke of Mathura Oil Refinery

3) Ganga water

4) Water of Kanpur Tannery Industries

" . HY . AGAT I AR, T. TS . 31T . 1987 TH . WY 965 F TG H JFATT T FROT v ¥ €]
T TeATIT AT ?

1) iRt 5 U3 wiéemser Ssdiar foeeh & sitfor i

2) T el AMeTeT AT (RpTSarl) H 31

3) a7aTT ST TTeY

4) FIAYR THST 3T &7 1A

Ques # :12

In a Food Court while taking the dinner, a customer noticed a small cockroach in the vegetable and started
vommitting.Regarding the liability of the supplier which one of the following is correct ?

1) not liable as it is a triffling matter.

2) not liable as the customer should be beware.

3) not liable as the cockroach might have dropped after cooking.
4) liable as it is a gross negligence on his part.

TF HITeT I[g A T 7 HST FIQ THT T AT HT EATT Tl A I3 T BI forerad Y 3 o
3R sa! 3Teean gt wrelt | myffardt & e & wreeu d RaRRa A I FT wFrm ad ¥ 2
1) et o761 & =0 oY A a1 & o

2) gy 71T & 1T TITEe T AIaHT el 9T |

3) grfr 71EY § i T faerfreT Feoll Iehle & ueard PR gl |

) gt & Faifer 38 9aT W Ig O 3UET ¥ |

Ques # :13

A' gave a statement that P's deceased mother '"W' was a prostitute. 'P' can sue 'A' on which of the following
grounds ?

1) defames "W"

2) affects P's reputation

3) causes damage to 'W'

4) defames 'W' and hurts 'W'

A" FHYU FHAT AT P Y Faw AT W' TH dRAT A | P, A F e R 3MUR W arg ar wwar g 2
Dw & e g3 |

2) P T gSoTcl T §S |

3) Fye 'W' & fIv eifaere & |

1) YT 'W' o TIT AR T aTfaeN § |

Ques # :14

In Municipal Corporation of Delhi V. Subhagwanti, the Supreme Court applied which of the following ?
1) the immunity of sovereignty
2) the immunity of Vis major
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3) the rule of volenti non fit injuria
4) the doctrine of Res Ipsa Loquitur

AT HRANUT et qeimer Gomraeh & arg #F wararery o =it & @ fraet amey fram 2
D) gy o qrama

2) Ydfipea T g AT

3) ' arelers a1 fhe SeariRar ! 1 foras

) ' g T NadT § ' & RAgia

Ques # :15

The conductor of an over- crowded Bus invited the passengers to travel on the roof of the Bus. The Bus
swerved on the right side of the road to overtake a cart and a passesnger was struck by an over hanging
branch of a tree and died.Who is liable?

1) Only the owner of the Bus

2) Only the conductor of the Bus

3) The deceased was also liable

4) no one as it was merely an accident.

TF GUTET HO 99 F F5FeI A 1A 1 97 A S I A W F v srafeaa fFar v deaems
¥ 31 e & AT gEaR o S § 99 F) qIfger 3R T3F & 3dART,TH I A FI 45 F¥ 316 Y
e o9t 3R ag AT I14T | et gAY g 2

D) gt s 1 A1l

2) Sreel S T hgFel

3) a2t e ot griY e

4) S w7t i Tg haet vk griesT AT o |

Ques # :16

Private Nuisance is an "unlawful interference with a person's use or enjoyment of land or some right over or
in connection with it." This definition of private nuisance was given by which one of the following jurists ?

1) Winfield
2) Salmond
3) Blackstone
4) Stephen

"forslt 39Ty Rt safFa 1 o(fd & a1 39F IR A1 399 g T F1§ 3RFR F g3 7 3user A
37y graaiT § | sl 3UATT Y Ig aReeT Aeifha A § e e garr & e ot -

D) ferdires garr

2) HIH=3 @RI

3) SolehEeIe Rl

4) TR garT

Ques # :17

In India for removal of a public nuisance, a suit may be instituted by the Advocate General or with his written
consent,by how many persons even without any special damage caused to them:-

1) Atleast five persons
2) Atleast four persons
3) Atleast three persons
4) Atleast two persons

AR H S 3T F1 §T & AgT ifaeran 7 38 fof@a IgAfa & 3= e Ay arfa go
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), Rraett caferaat garr arg g fFar s awar g :-
D) sgterst aia cafaat gan
2) FgaH TR ATt ganT
3) Fea et cafFadt ganT
%) =geTae or safaadt gamr

Ques # :18

Which one of the following remedies is not available in a case of private nuisance ?
1) abatement

2) prosecution of the defendent

3) damages

4) injunction

sl 3TaTT & ghIor & AeAifrd & Hlaar 3UaR 3uasy AT § 2
1) sqereer

2) gfardy &1 3rfaarerT

3) arfargfe

4) =areer

Ques # :19

M.C.Mehta V.Union of India AIR 1987 SC 965 was a judgement of a bench comprising how many judges ?

H 2
2) 3
3) 5
4 7

TH . WY . ATAT . ARd T, AIR1987SC965 aTE 7 fohder =aramefien & fis o faohr fem 2

1) 2
2) 3
3) 5
4) 7
Ques # :20

The following can sue for defamation :-
1) A woman regarding her character

2) A Partnership firm

3) A Political Party

4) The Government

AnTeiter & faw eafaf@a o wqa st asa § 2
D) v Afgem 3= o & Qv

2) e Hefer B

3) e TelAfaer g

1) TER

Ques # :21

Who propounded The Rule of strict liability in Rylands V. Eletcher ?
1) Lord Moulton
2) Lord Cairns

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/98- Law-l/sesspack/gpimages/QP_98-Law-1l.html 6/44



28/06/2016 College Lecturer Exam - Law-I|

3) Lord Reid
4) Blackburn J.

TS 7. FATR & 1§ H FOK &IfAca & RAgia F1 afadres g waraeiier o rar ar 2
D) 578 AzeeaT

2) AtS =

3) s s

4) aTaf sorhae

Ques # :22

A newly married female filed a complaint in a court against her in laws for cruelly but the criminal
proceedings are quashed at the cognizance stage on the ground that they are frivolous. In this case which one
of the following statement is correct ?

1) her in laws can't take any action against her.

2) her in laws can seek an anticipatory bail

3) She can file the case afresh on the same facts

4) her in laws can bring an action against her for malicious prosecution.

UF Afaarfedr o e 9fd T Y - FEY F TG Ay 7 a1 & FRor gk i@ frar oeg
FARATTT WAL & T T HTRAF FHAE Y 578 Al g dfHa@fRa (e ) w1 | g9
A # Afeda A slgarFaa a8 g 2

D) 35 wre wqT 30 fawg #1$ FIarE! 761 < T |

2) 38 | G 31T TATT o GHA & |

3)3F€raaﬁwagmmﬁmﬁﬁﬁg?~r: 16 G Y Tohdl 6 |

%) 3a T T 36 faeg faedwaut 3 o1 ag < g § |

Ques # :23

In which case the ' Rule of Last oppurtunity' was extended to cover cases of constructive last opputunity ?
1) Davies V. Mann (1842)

2) Parry V. Smith (1879)

3) British Columbia Electric Railway V. Loach (1916)

4) Fryer V. Selford Corporation (1937)

fra AT & ' 1A TR & A ' F71 ATaR =al¥s 3AF 3qw F A aF A g 2
D 2Rg . A (1842)

2) 9fr 9. FeAU (1879)

3) ffeer ST safaes Yod . &g (1916)

4) BRI §. Tl BIS HIARAF (1937)

Ques # :24

In which of the following offences mere preparation to commit an offence is punishable ?
1) theft

2) robbery

3) extortion

4) dacoity

fAFAfat@d J & 7 3raRrer Y Y AT U 3T ¥ 2
) =g

2) o

3)

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/98- Law-l/sesspack/gpimages/QP_98-Law-1l.html 7/44



28/06/2016 College Lecturer Exam - Law-I|

39T
) g

Ques # :25

The Commission of which offence under the Indian Penal Code,1860 is not punishable if the offender succeeds
‘)

1) Attempt to commit murder

2) Attempt to commit Suicide

3) Attempt to commit culpable homicide
4) Attempt to commit rape

R U |igaT, 1860 ¥ a8 Flerar srorer § forw 3o & afe 3fogFa gwer g smar g ar
qUSAIT AL § ?

D) gcar &1 gama

2) 3fTeAgeat

3) TR ATAT-aY & 9T

4) FarcHIT 7 v

Ques # :26

Which one of the following statements is correct regarding a priest officiating at a bigamous marriage?
1) not liable as he performed the rituals only

2) not liable as it is the private affair of the parties

3) not liable as both the parties are major

4) liable

t# gfAfdamg FRae areT 9fsd & FTRIfUE arficd & geaey # Flau FUT w8 2
D) sgar forw a1t 787 & araifer 38 shaer f9aTg Gue SHearam |

2) g foT ey 18T § Fifeh g JeTehRY &1 el AT &

3) gah fow ardy =7ET & et gaTeRR anfeeT ¥ |

) ga T ar g

Ques # :27

In the Indian Penal Code , 1860 the word "animal" does not include :-
1) a human being

2) a bird

3) a monkey

4) a tiger

R gus HiRaT, 1860 # "Shasi=q" areg & afFAfaT a8 § -
1) Fe7g

2) ﬁl‘%'ZIT

3) geex

4) g

Ques # :28

In the Indian Penal Code , 1860 the word "document' does not include :-
1) Bill of Exchange
2) Cheque of a bank
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3) Post mortem report
4) Coin

TR 5Us WigdT, 1860 H "SFdEd=" eg A AFATAT LT & :-
D _faaa gy

2) SF T AF

3) Qree-ATeH R

) o

Ques # :29

What is the minimum age for determining the criminal liability ?
1) ten years

2) seven years

3) nine years

4) twelve years

st giied fruiRor & e =g@an g w2
Degay

2) gra ay

) atay

4) §rE a§

Ques # :30

To take the defence of Section 84 of The Indian Penal Code,1860, what of the following must be proved by the
accused?

1) his sudden and grave provocation.
2) his physical incapacity.

3) his medical insanity

4) his legal insanity

HRET GUS BT, 1860 T TRT $4FT T4TT o=t ¥ TG 1 Fe=Aifera 7 & aram wifera aveanr
aifge ?

D) a1#9iR vd 3 geas

2) sgehr emiiRan 3raTAaT

3) Ffareehry Ragafarar

4 faftres fagafaaar

Ques # :31

A boy aged 10 years runs with a banana from the shop of a fruit vendor. He is liable for which of the following
offence ?

1) no offence as it is a triffling act.
2) theft

3) extortion

4) loot

U 10 I TT4T U el fAshar T GHTeT { U HAT AHT T ST ¢ (a8 e IroRrer & fw grfr @

D) ey 311y & fore 1€t o 0ifd g v deo g |
2) D & faw
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3) 39 & forw
Ve o

Ques # :32

A,B and C planned to loot a bank.A and B entered the Bank and came out running with the booty. C was
waiting on the nearby road in his car with the engine on,escaped with them.What is the liability of C ?

1) C will not be liable as he did not enter the bank

2) C will not be liable as he is simply a paid driver.

3) C will not be liable as he did not participate in the loot.
4) C will be liable under 34 IPC for participation in the loot.

A,B 3R C ATH o FI ot 1 ANST=T To14T | A TF B o o F waer fvam va o Fr weht & aror gisa
gcwsaﬁr|cﬁarcaasa?w,m?ﬁwﬁ,éaamqr@ﬁ§¢,méamwmm,3?§w
TFId @Y AT | C FTSIAT FATR :-

D ¢ 1 Y8 erfiica =gt & F=ifen g o #F aram & =3¢ |

2) c T 1S aTca F1ET & Fifeh ag oY Shael Ueh oI Trele § |

3) c 1 1S ETfica AL & Fifh 3T o & AT 6T o |

4) T URT 34 H.EH. & HedeTd dg 7 HI9T ot & forw I |

Ques # :33

What is the minimum number of persons in an unlawful assembly?
1) Two

2) Three

3) Five

4) Seven

v faftr Reg e F safFaw) i ~qeaa searFar g 2
D &

2) &=

3) g

9 Fra

Ques # :34

When an unlawful assembly turns violent,it becomes which of the following offence ?
1) mutiny

2) sedition

3) affray

4) rioting

fafer faeg soma s19 s @Y ST €, a9 at ler A1 3r9R=wer 97 AT -
D e

2) qeTaE

3) &

4) gorar

Ques # :35

A rioting cannot be committed by less than what number of persons ?
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1) two persons
2) three persons
3) four persons
4) five persons

fFasr safFaat @ F7 F @RI Foar 781 o ST FFar 2
D) g cafeaat & &a & garr

2) et ot & o & @

3) IR =afFaat ¥ A & garT

4) i cafFaat & we & @rT

Ques # :36

A husband and his wife started fighting by abusing each other, on a public road.A large crowd gathered there
causing traffic jam. What offence they have committed under IPC ?

1) no offence

2) the offence of domestic violence
3) affray

4) mischief

T i U IHAY Tl T I T T GHY Y AT GH ST 9 [T a5 g gahd) g1
TS ITATATC ST §3T [Seelar 4T 379y fovan & 2

D) g 78T |

2) ey T T 3reRTeT |

3) g

4) R

Ques # :37

A husband suspecting his wife's infidelity and her pregnancy struck a blow on her abdomen causing the death
of the child.He is guilty of which offence ?

1) murder

2) culpable homicide

3) an offence under section 315 (Indian Penal Code)
4) grievous heart

Teelt & Helled U9 13 OX WaE F HROT 0 9y ¥ el Teeht & YT IR veh 71 AR o a=a
et F @ {8 1S |98 Frw TR FT A B -

) geam 31

2) IR ATeTd G &l

3) o129, Y URT 315 & 3l IR T

) TR 3usfa @t

Ques # :38

Due to the arrogancy of the drunkard husband his enraged wife struck him a blow which ruptured his
enlarged spleen, of which she was not aware, and he died. The wife is guilty of which offence ?

1) murder

2) culpable homicide not amounting to murder
3) grievous heart

4) simple heart

U eRTE ey Y 3EEAT § FIOT Tooll F 38 G AR AW 3wt 761 ¥ el , Sraer g a1
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qdT g1 AT, % A 3R a8 A 31T [Tt fha 3rarer Ay aeft @ :-
1) gear &7
2) TIRTRISh HTeTa Gl &7 Sl 6T 8T &

3) arFsiR 3ugfa
4) FryRoT 3usfa

Ques # :39

The accused administered arsenic in the food of the deceased deliberately. He is guilty of which offence ?
1) mischief

2) grievous heart

3) culpable homicide

4) murder

HAGFT A TG, FaF F Hiorer 7 WG Aemar o7 j78 fFw srrr T E 2
DR

2) areefix 3Bt

3) ORI AT &1

4) g 7

Ques # :40

How many exceptions are available under section 300 I.P.C. whereby culpable homicide is not murder ?
1) Two

2) Three

3) Four

4) Five

HIC EUS HiRaT i 4RI 300 F Iaaid helet 379aTE 3UeTsY § FeTdh g@RT 3RO AT e
FAT TN 8 ?

1) ar

2) &=

3) =R

4) g

Ques # 41

The offence of attempt to murder is contained in the Indian Penal Code under which section ?
1) Section 121
2) Section 307
3) Section 309
4) Section 511

&1 & el T T HRANT U8 Figar Y v arT & wiFafaa g -
Demri21 &
2) 4RT 307 &
3) emT 309 F
DR S A

Ques # :42

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/98- Law-l/sesspack/gpimages/QP_98-Law-1l.html

12/44



28/06/2016 College Lecturer Exam - Law-I|
A man makes sexually coloured remarks upon a female co-worker. He has committed the offence of :-
1) outraging her modesty
2) attempting to commit rape
3) sexual harassment
4) defamation

UF 39 o Teh WEHHA! ATgelT 9T A Jmerret feroqoft & | 3@ srommer fra g -
1) st efeotr $i9T a1

2) ST T T

3) Jfren scdiiset &

4) ATTEITeT &l

Ques # :43

A readymade cloth merchant takes images of females by installing CCTV cameras in the change-room. He has
Committed the offence of :-

1) Voyuerism

2) Only sexual harassment

3) Only outraging their modesty

4) Sexual harrassment and outraging their modesty

T [ AT a3 7 fGohdr 92 deaa & F&T FH CCTV HAY ] ARt F R aar g | 39
leT |1 3TaTer R § 2

D) gearfaerar #r

2) AT AfRTeh SedigeT @t

3) ATT 3R SToolT HIT T

4) Jfrer 3cdfiesT Ud oToalT HT &

Ques # :44

A married Hindu girl of 17 years was living with her husband. One day, her father, in the absence and without
the consent of her husband, takes his daughter with him. Has he committed any offence ?

1) He has committed the offence of deciet.

2) He has committed the offence of criminal conspiracy.

3) He has committed the offence of kidnapping from lawful guardianship
4) He has committed the offence of abduction

UF HAg T feog, fRrarear srae afar & wre 8 W off (o et 3went Ry, 3was afer f sreifeufa
# uq WAt & e, 3ralt T & |y o 91T 377 36 FrS Irqwe frar g 2

1) 3ger eirar &t 3roRTer R & |

2) 3 IR TSTF ST 3T FaT |

3) g TaTRy EReTehar # ¥ aUgoT &1 3oy fhaT |

4) IHY 319EIOT T I FFAT Y |

Ques # :45

There cannot be the theft of which one of the following ?
1) a child

2) a horse

3) water

4) a Bull of a temple

g A g o agi sy asar g 2
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D) v s iy
2) e ES fr
3) qretr r
1) Afeg F A& Fr

Ques # :46

A threatened to B to make her secrets out unless she gives him money. She did not pay. What offence has he
committed ?

1) Extortion

2) robbery

3) Cheating

4) Criminal intimidation

I T FH gAY H IR 3TA 3T TIA AL TEF @Y 98 37 S @A 0 | T A $9A AgT w37 A
T 3T9eT fhaAT g 2

1) 3e7qe

2) e

3) et

4) 3o 3t

Ques # :47

X threatens Y to execute a gift deed in his favour otherwise he will kill him. X has committed what offence?
1) Cheating

2) Extortion

3) Robbery

4) Criminal intimidation

XY ® GHH G AT ag Y & 98T H 1T I fsurfed ¥ 3021 98 3@ AR 91T |X oF 4T TR
frarg 2

D et ar

2) 3E19eT &l

3 g

4) TR TR T

Ques # :48

A has thrashed B and at the point of a knife asked him to deliver his purse. A is guilty of which offence ?
1) theft

2) Extortion

3) Robbery

4) Criminal intimidation

A B &I UFHT AT T A1 Y Ak I IHW ICIAT 3 1 el |A oy o w1 @ 2
D arfram

2) 3ETdet &

OF 1

) st fFETg #

Ques # :49
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What is the minimum number of offenders in a offence of dacoity ?
1) Two

2) Three

3) Four

4) Five

Sehell & 3TORTY H IR it FgAA HEAT e gt § 2
D &
2) Do
3) ax
4) g

Ques # :50

A by pledging as diamonds articles which he knows are not diamonds, intentionally decieves Z, and thereby
dishonestly induces z to lend money. A is guilty of which offence ?

1) Cheating
2) Forgery
3) Mischief
4) Fraud

& WA AN FY, AR I8 AT & Y 38 R AT &, R F T & IR T@ T T & 1T ya==1 FIaT
¢, 31X TEganT e FUR & F AT 7 F) T$AT § 3ART FaT § [F 6T 3TRrer F1a -

D) seramr

2) g T

3) RS &1

4) e &

Ques # :51

A, by a stone throw, smashed the window glass of his neighbour. He has committed what offence ?
1) Criminal intimidation

2) Mischief

3) Assault

4) Criminal force

I TFH I FhaT , 379 T2 Y f@shr &1 efter aYs fam (39« = arawrer fFan g 2
D) amorferes sifdema

Ques # :52

The landlord of a house went to the residence of his tenant and scolded him. The later asked him to get out
which he did not. He has committed which offence ?

1) Defamation

2) Assault

3) Criminal intimidation
4) Criminal tresspass

TS HFIA ST Alfrd 3T FRIRAER & 81 37197 U9 38 18T [fFIRER of 38 a1 s o & Qv
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FT, To] T T81 IAT 36T Hleran oy frar § 2
D) srerarfy
2) gore
3) 3o afeEE
4) TR 3R

Ques # :53

Under the Transfer of Property Act, 1882 immovable property includes which one of the following ?
1) Right to collect rents of immovable property

2) Royalty

3) Copyright

4) Right to turn of worship

FFafa 3eavor ATAATF 1882 & edeia TR TFufa A RaRf@a A FarafFafRaagi g 2
D) Ferat grafa & fRrar aqe e &1 3ifdeR

2) afarea @@ed)

3) gfaforcafsR (FdRrge)

4) gt & 3EX F HRAFR

Ques # :54

Transfer of Property Act, 1882 does not apply to which one of the following transfer ?
1) Sale

2) Mortage

3) Gift

4) Will

FFaf Jreavor srfafae , 1882 i YR & FUTEATeaRor W ¢ Ay eI e 2
1) forger @

2) st gamT

3) gt g@mT

4) g¥ird gaw

Ques # :55

What properties can be transferred under the Transfer of Property Act,1882 ?
1) Spes successionis

2) Right to past maintenance

3) Easement

4) Right to sue

FFITA 30T ATATATH, 1882 F redeia AFifrd & ¥ FieT Y wrafed U0 Y T THhaT &

D) 3cquf@re hr gFsmaar

2) $7cTPTelNeT $1XOT-GIYOT T 37fUHR
3) ganfasr

4) are; dTeY T 31TFR

Ques # :56

In what type of cases registration of transfer deed is not required?
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1) Sale of tangible immovable property of Rs. 500 /-
2) Simple mortgage

3) Gift of immovable property

4) Transfer of actionable claim.

fArTfRa # & R AT F TAFTaRT AW & gool e $Y Taeahdr Asi ¢ ?
D) 92 500/ AT TR FFfS 1 s

2) HIYROT S

3) 3rerer GEufed & et

4) 31T ET HT EUTAART

Ques # :57

When Rule against perpetuity invalidates the transfer of property ?

1) If a gift for charitable objects

2) If a personal contract

3) If a vested interest

4) Is a transfer in favour of an unborn person who is to take it after attaining the age of 21 years.

AR & fa%g fraer geufed & earor A Fa JfAfROAT e gar g 2

D) st Bt (qeareh) 3223 & fow T T @

2) 319 e afFded et §

3) SIS T Afga Ra®

4) 19 31eaRoT R T 3reTeR cafard & gt ¥ foram oram & ford 3 21 a & 3y qof &tet TR aam 2

Ques # :58

Section 35 of Transfer of Property Act, 1882 relates to which of the following ?
1) vested interest

2) contingent interest

3) condition precedent

4) doctrine of election

FFIT 3o AT AT, 1882 FY 4RT 35 AeAfRad # & fFg @ grafrua g 2
Dakafkad

2) g R &

3) qdach T &

4 T & Rga @

Ques # :59

The 'doctrine of fleding the grant by estoppee' applies in which case ?
1) the transferee has not rescinded the contract

2) property purchased by bonafide purchaser

3) property transferred by way of gifts

4) transfer of movable property

' Ry & Ao 1 Rgled ' e AT E 2
l)aﬁlﬁ?ﬁﬁaﬂﬁaw@waﬁﬁ?ﬂ%
2) gFafy Sl AT Shell aRT h H TOIT AT E |

3) FFafd ETeT & SaRT 3TecRoT HY TA E |
4)
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Tl GFYTA o Hec0T o ATHS H |

Ques # :60

What is the position of the transfer of the disputed immovable property during the pendency of the suit?
1) void

2) voidable at the option and to the extent that it affects the rights of the other party who obtains the decree
3) valid

4) irregular

arg &Y 3rafr & Ragaea srae geafa & seavor i Rufa AmR@aaAaFare 2

D) ey

2) f35hT ITCd A aTel gER TETRR T STOT Td 38 31TRHRT U THIT STelet aTell TAT dh
NeuEaulip)

3) Rt

1) afeafag

Ques # :61

A debtor has four creditors but transferred his whole of the immovable property to only one of the creditors.
What is the legal position of this transfer ?

1) void
2) irregular
3) voidable
4) valid

UF SeTeR & IR AdGR § e 3H Tl FATA T FFITel 3T ¥ Hael Ueh AeTaR Y IH0T FI
& 39 3reaor Y Afts RufaFar g 2

D o

2) siferafaa

3) eFaeofia

4) fafwa

Ques # :62

The famous case of Nathulal V . Phool Chand (1969) 3SCC 120 relates to which of the followings ?
1) Transfer in favour of an unborn person
2) vested interest

3) doctrine of Past-performance
4) Gift

ATYRATS T Ferdeg (1969)3SCC 120 FT ARG arg fFArafaf@a 7 @ e @ weafaa g 2
D) srat9t cafera & et 3 3o

2) fafea fea

3) aTIf3Teh UTeleT AT fAgTed

4) arey

Ques # :63

Sale of tangible immovable property of how much value need not be made only by a registered instrument ?
1) Less than one hundred rupees
2) Two hundred rupees or more
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3) Five hundred rupees or more
4) One thousand rupees or more

fassfra F § fraa Hea 1 7 wura geafa &1 s Faa Woedsa fwa garr a8 far e
THATE 2

Durgtedasat

2) gr gt vaw 369 RS

3) g &t 9 ve 3 3R

4) U IR §9 U9 38 H0F

Ques # :64

Possession of mortgaged property is given in which type of mortgage ?
1) Simple mortgage

2) Mortage by conditional sale

3) Usufructuary mortgage

4) Mortgage by deposit of title deeds

IUF FYTA T Feall [FH TPR & T4UF H AT ATGTE :-
1) arer seres &

2) g fashy ganT see &

3) siYer SereR A

4) goh-faoraY & fHeIT gary e &

Ques # :65

"Once a mortgage, always a mortgage and nothing but a mortgage."This maxim recognizes which right ?
1) Right of the mortgagor for the mortgage money.

2) Right of the mortgagor for redemption of the mortgaged property

3) Right of the mortgagee for his money

4) Right of the mortgagee for possession of the mortgaged property

"U# IR TUF Had H1 94F, IR F& 7¢1 W Fad aUF | Ig G 67 JFR F Agarears :-
1) getrehendt & atreh ¢ & Tord |

2) Sere-ahcll & SUSHYET T & e & o |

3) Sereh-afRdr & 38 U & v |

4) Sty AT 85 TR FEITRY 3 et & T

Ques # :66

In case of conflict between the doctrine of Marshalling and the doctrine of contribution, What shall be the fate
D)

1) Marshalling shall prevail

2) Contribution shall prevail

3) No one shall prevail over the other.
4) The transfer shall fail.

FHGTHS FI G U9 FfHerT F1 RAgea 7 faer it fufar 7 am o ghem 2
D) sraeieret o fagTer 3rfrerdy ghem |

2) 31f8reTar o1 Rgred 31fHemdy gam |

3) 1S oY Ua gaY TR 7RSS LT g |
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4) 3HedToT & THBeT 8 SR |

Ques # :67

In case of charge, the remedy available to the charge-holder for realisation of the amount will be as in the
case of :-

1) Usufructuary mortgage

2) Simple mortgage

3) Mortgage by conditional sale

4) Mortgage by deposit of title deeds

ST Y FRerfay 31, STRETrY  Treft gt b7 SrTRr TR v @Y B O
1) v sovrer 7 FRUfI

2) ey et Y At &

3) gard fasa sues 1 feafa &

4) gon-faora) & eIT carT a-us Hr Rufa

Ques # :68

In the absence of a contract or local law or usage to the contrary, what duration of a lease of immovable
property for residental purposes shall deemed to be a lease ?

1) from month to month
2) for one year

3) for three years

4) for five years

drafasher afder a1 T fafer a1 gt 7 8 oY Rerreft 320l & fod 92 Y wramafer fhaeh aEh

Ques # :69

When lease of immovable property does not determine ?
1) by efflux of time limited thereby

2) by ousting the lessee forcibly

3) by implied surrender

4) by forfeiture

& Il GFITA & 9T HT XTI Tl BT § 2
D) vaearT aReif@a ga & i o

2) GEER FY TeIIdh forerer &

3) fyafard 313T9oT @Rt

4) AU IR

Ques # :70

The provisions of section 117 of The Transfer of Property Act, 1882 do not apply in which one of the following
cases ?

1) Agriculture purposes
2) Industrial purposes
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3) Residential purposes
4) Mining purposes

FFafar 3reaor fafaer, 1882 4T 117 F Wi frer AT # AR] Ag1 1A ¢ 2
D ¥ yairettt arer 7gt )

2) 3TN JASTAT aTer 9T I

3) 3marE gISTeT arer 9ET 9

4) @eTeT AT aTer TET W

Ques # :71

A made a gift of a house to his son B and before he could give his acceptance, he was shot dead. What shall be
the legal position of the gift ?

1) valid
2) voidable
3) void
4) irregular

3 IYA YT T F TF AFI g1 A o R 7 et Felipfar aar, 369 qd & 3@hr gear w1 Y 1,
39 aret & fafas Pufa s gieft 2

D Rftea

2) ol

3) o

4) siferafaa

Ques # :72

What type of contract is formed when cash is withdrawn by a customer of a bank from an Automatic Teller
machine (ATM) ?

1) Express Contract
2) Executed

3) Tacit

4) Executory

9 TF ATEH GaRT 46 F 791g =1 T.EL.UA F ATed A Asven o &, a9 5w var fr @fdgr
AT g 2

D) 31freas Gfaer

2) fasarfea

3) sregera

4) frsurfea fru ST arer (Asareeia)

Ques # :73

Which one of the following case is related to the general offer :-
1) Boulton V. Jones

2) Carlill V. Carbolic Smok Ball Company

3) Tinn V. Hoffmann & Company

4) Burner V. Moore

foret & FieT |7 91 AT YFd9 A Fafa g ?
D) Sreest . Sh=g

2) Fiforer 9. Fafford THIG aTel HFETAT
3)
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feoet 9. RHTTH HFYail

A CTER

Ques # :74

Communication of acceptance is complete against the proposer :-

1) When it comes to the knowledge of the proposer

2) When it is put in course of transmission to him so as to be out of power of the acceptor
3) When it comes to the knowledge of the persons to whom it is made

4) When it is made by the acceptor

YTEIE T 1 AT TEATaE & e ot 8 et § -

D) 519 a8 gedras & AT F 3 |

2) ST a5 36 el TRVOT & 31Tha 3 T & A § T ag farfedr r aferd & arex g s
3) sacafFa & A A I E T ag o |

4) 319 $r g8 IfAURAT CarRT S A § |

Ques # :75

A applies to a Banker for a loan at a time when there is a stringency in the money market. The Banker
declines to make the loan except at an unusually high rate of interest. 'A' accepts the loan on these terms.
Contract is -

1) induced by undue influence

2) induced by Coercion

3) not induced by undue influence

4) adversely affected by Coercion and undue influence

' TH AT A 3UR & AT XX AT A G FIAT § A9 8ol F TR A 9t § | I3 sqrer iy 36
IYTRIF X T & & AT 3UR A ¥ §FR I 3T 8 | ' 31 Taeratt W 3R gfoerfea #war e (7@
afder -

D sraege 3R @ saofRa g

2) 3cdise & geraa &

3) 3T W A IANT AL &

4) 3edise U 3rHFI TR F Tiadhe &9 & g ¢ |

Ques # :76

The 'doctrine of restitution', relating to minor,as applicable in England does not apply in India,who held in the
case of -

1) Ajudhia Prasad V. Chandan Lal
2) Khan Gul V. Lakha Singh

3) Leslie V. Sheill

4) Narain Das V. Dhania

HAATF & Foaetl A TACATIAT 71 FAgIar ST 59615 F AT o ST 9 F Ay o787 gYelT | I§ URor
o I ot -

D) rsyferar g 9. aegeteler

2){s||o1d;o+ g o@r g

3) orgelr &, ofrer

4) ARTIYT E1E §. T

Ques # :77
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A entered into an agreement with 'B' to deliver him 5000 bags to be manufactured in his factory. The bags
could not be manufactured because of the strike by the workers and 'A’ fails to supply the said bags to 'B'. Is
'A' liable ?

1) A is not liable because of 'initial impossibility'.

2) A is not liable to due to supervening impossibility

3) A is liable to 'B' for non performance of Contract

4) A is not liable due to the applicability of initial as well as supervening impossibility

F AT T IR FAT Y 78 39 39a FRETT A AT 5000 97 Y 3mfed F39m | AfAFT A gIATS
& HRor 391 T fie 7181 8 o sufaw &, @'sr doit it mqfet 78t F: 71 | F91 'F SeaEr 2
D) & 3R 3raF37aar & HROT Scaera 78T & |

2) & qoaTd adt HFHAAT & SHRUT ScaleRiT 781 & |

3) & ETAST & UTeleT o fhT SATeT 3 FHIRUT 3TYTcleT g 3ccRerdT g

4) &' 3R Td gRATdYfel 3IFEHIAT 9 HROT SR 8T & |

Ques # :78

Which one of the following pair is not correctly matched :-

1) Fraud and Misrepresentation : Boulton V. Jones (1857) 27LJ EX117

2) Contracts for the benefit of minor : Raghava Chariar V. Srinivasa (1916)40 Mad 308

3) Privity of Consideration : Chinnayya V. Ramayya (1882)4Mad.137

4) Sec. 25 (1) of the Contract Act : Ram Charan Das V. Girja Nandini Devi AIR 1966SC323

foree # @ Fleran 377 A 7 @ -

1) srge g frzareguees : steesT 9. Sied (1857)27LIEX117

2) 39T 3 FH & IR : AT ATRA F. AT (1916)40F51H308
3) yfawer & Gaet & R : R 9. T (1882)4781F 137

4) &IRT 25(1) Tfder 1R, : g o PRETTeal &aY , AIR1966SC323

Ques # :79

Recently the Supreme Court has discussed the imposition of 'penalty' and pre-estimation of damages in the
case of Maya Devi V. Lalta Prasad AIR2014SC1356. The court has followed the principle of law laid down in

1) Sir Chunni Lal V. Mehta & Sons Ltd. V. Century Spinning & Manufacturing Co. Ltd. AIR1962SC1314
2) Fateh Chand V. Balkishan Das , AIR1963SC1405

3) Both ( Sir Chunni Lal V. Mehta & Sons Ltd. V. Century Spinning & Manufacturing Co. Ltd. AIR1962SC1314 )
and ( Fateh Chand V. Balkishan Das , AIR1963SC1405 )

4) Murlidhar Chiranji Lal V. Harish Chandra Dwarkadas AIR1962SC366

gTel &1 7 3T s o AT &dT 7. Tl THIG AIR2014SC1356 H gUS & 3RI90r vq a7fer & g

AT T faa==lt fFaT | e 3 faes & & vy amad Awel & gfaarfea Rgrea #1 arsgsor

frar 2

D &3 geefratrer &Y. Agar Us @0 for.a. a9 Reafeer vs A=gtharafier %.f3. AIR19625C1314

2) T & STeliehael e ,AIR1963SC1405

3) gt (TR TrwtrelTer . Fgam U T for. 9. 49 Reafear vs A=gtharafar .57 AIR1962SC) &2 (
hdgdg, o, dTelfeh e &I ,AIR1963SC1405 )

4) el RiSirerTer . gReds g@ReT a1, AIR1962SC366

Ques # :80

Which one is not related to "Quantum Meruit" ?
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1) Pinche V. Colburn (1831)
2) Craven Ellis V. Cannons Ltd. (1936)
3) Clay v. Yates (1856)
4) Ord V. Ord (1923)

e A @ Flear "Haed AN § grafFua agig 2
1) e 9. shreraet (1831)

2) graet sforg & Fetetd Tor. (1936)

3) el 7. AH (1856)

4) 3(RE 9. 31RE (1923)

Ques # 81

Which one of the following Agreements by way of wager are not void ?

1) for a cricket match

2) for a www wrestling competition

3) for a car racing

4) for a horse racing if the amount of prize does not exceed rupees five hundred.

fifra # A Pl ash F dh R T g 8 2

D frare A &

2) WWW et & Farae & oy

3) wr s & o

%) gz gtz & fordr STgT 3eTre &1 AR F€ 500 /- § HfoF AL T |

Ques # :82

In the case of contingent contract if the happening of the event becomes impossible, In which of the following
category it will be placed

1) void
2) voidable
3) valid
4) uncertain

AT faer 7 Ife g F1 afed g 37Ha g J aY ¥aT gasitar eaifea & @ faa Aoft &t
g ?

D g

2) grgaioiy

3) fJftE

1) 3R

Ques # :83

A agrees to pay B 1,000 rupees if two straight lines should enclose a space . This agreement is of what type?
1) valid

2) voidable

3) void

4) pending

F FIR FIAT ¢ P I & T3 [@ Rt TATT FY 893 o A 98 @ Y 1,000 TIT 31T [TghIR Fd
YRR FTE ?
DATIGE o)
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2) yegenoig
LN
3) oty
o
4) afad

Ques # :84

Point out the type of mortgage in which there is a personal covenant to repay the loan by the mortgagor.
1) usufructuary mortgage

2) Mortgage by deposit of title deeds

3) Mortgage by conditional sale

4) Simple Mortgage

3 TUF FT YR TS [N TeUHFAT GaRT FOT TH HY ST THfAGT HY AT ¢ |
1) srer Syem

2) & eIl &1 STAT ZaRT s

3) gerd fasa swe

4) TROT St

Ques # :85

A contracts with B to build a house for B on a labour contract. B was to provide him the building material but
B failed to provide and the house could not be constructed. Here which one of the following statement is
correct ?

1) A can himself arrange for the construction material.

2) A need not execute the work and B is bound to compensate him for the loss.
3) A should insist for extension of time.

4) A should realise the inability of B.

HATF YT F AT, T s7aet & faAor g e wider frar | sraer fastor arraf a garr saersy
Fare oft o a8 3rawer @1 3 319t F1 AHATOT 7€ &) ThT |37 Teesl H AeAifra & & Flawn
AT AT E ?

1) 31 9 9191 THATOT FTHA &7 Sl H F T ¥ |

2) 37 I T UG ST TRl AeT & 3R 3TH! EU T 1 &1l et T e § |

3) 31 P GHT o g CaTd STel=lT 1T |

) 31y AT Tgaerar gHsE TRe |

Ques # :86

The 'doctrine of frustration' does not apply in which of the following ?
1) destruction of the subject matter.

2) death or incapacity of the party

3) intervention of war

4) commercial hardship

e #1 RgTed " Awifed # & e WA At gar @ 2
D fawar-aeg & sag g W

2) gaTeR T 7 T AT W

3) g & aHTe W

1) i S )

Ques # :87
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A paid Rs. 10,000 /- to B for her dance to be performed in his theatre during the next 10 days but on the same
day her leg was fractured. She could not give her performance and the infuriated crowd destroyed A's
theatre. For which one of the following, B is liable to pay A ?

1) the advance money of Rs. 10,000 /-

2) the compensation of loss of property.

3) the profit which would have been earned by A.
4) nothing as she is not at fault.

'3 ST P TIT 10,000 /- o Y 9 39T H T A 30 TrAT H ocF FA W] 3T e 30k
W 9 o9 75 (7 T A1 F TP IR Fg Mz A THET A NsBI I Q| T 3 T #
¥ s fav gRcafi § 2

1) 31fare TR <. 10,000 /-

2) FFafe & e @ arfafd

3) ag & ST 37 FHATET

4) 5 o AT TS T S AT AL E

Ques # :88

Which one of the following is not an actionable claim ?
1) Claims for arrears of rent

2) copyright of a book

3) Muslim woman's claim for her unpaid dower

4) claim for money due under insurance policy

fawarifana & & Flerar " seqaley arar Tt g 2
1) gerrar RT3 T grar
2)w-qﬁﬁw®w

3) 31ged AEY & AR AT &1 grar

4) AT gAY F 3edeTd T T SraT

Ques # :89

'X" in a wounded condition was admitted in a private hospital for treatment. After his treatment the hospital
asked him to pay the bill. Which one of the following is the liability of 'x' ?

1) liable to pay as the hospital did not treat him gratuitously.
2) not liable to pay in the absence of his request

3) not liable to pay as the treatment should be free

4) not liable to pay as the hospital is bound to treat

"TFH Y ArETaTdT & fsh Rfrcarera # 3w &q srelt IR AT o7 [3UER F geard R
F 38W fet &1 $erae Aven | v w1 Aeitha d F Pl aRea § 2

D) forer & speraet &1 & TR Rfehcarera & 38eT 3TUR Jeanfed dX o 78T faam o |

2) 383 3T & AT ST & AT G AL |

3)ﬁﬁ$wwaﬁ%aﬁrﬁ?squu foreresh gl =i |

4) ST % S7TAIeT T 16 § iR 3TN e 8] M fhe o e § |

Ques # :90

The students of a private college were coerced to donate the excess fee charged from them for the College
Development Fund. Which one of the liability is of the college ?

1) bound to refund the excess fee

2) not bound to refund as they have donated to the college.
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3) not bound to refund as they should show sense of Alma mater.
4) not bound to refund as fee,once deposited, is never refunded.

v farsht AgTiacaTes & ol & v 3 31t e 1 AgTiacaTeay s ma FIv 7 o7 ¢ 3¢ aey
T a3 | FETfaeETerT &1 a1fded fw=rifera & ¥ wlaar g 2

D) s1fer gee dlleae arear ¢ |

2) 3eThT Yoeh SlieTal &l STET g1 § FalTeh 3giel HEIAGTor ohi &lef I & |

3) 37! ek FlieTel T AT AL § AT 3ot TEAT H AT T TG (el AT He) @ anfed |
4)3ﬂaﬁeﬁaﬁaﬁrﬁm€aaﬁ%wﬁ: T SR STAT §3HT Aeh ST e AT ST |

Ques # 91

A has made a contract with B, a brass Band Company for Rs. 20,000 /- to play the band at the marriage of
his son. The Band Company did not turn up and the bride refused to marry A's son. In consequence, marriage
was cancelled causing A's death due to heart attack. The Brass Band Company is liable for what ?

1) to compensate the bride's side for their entire loss
2) to compensate the bride-groom's side for their entire loss
3) to compensate for the death of A.

4) to compensate only for a difference of charges of A might have engaged another band Company with a higher
amount.

I A T I o3 FFIA § 39S IF F {3arg & o5 g9 8 T 20,000 /- F reyaeyr fyw (f¥amw & ds
3T €Y A1t SR Yy A Fare 3 § 7l ) 1 (aRomaATawy fare fAved g fowd ar iy
FEATITT W g 81 5 (919 43 . F7 qT¥ca AT ?

D) qeger 1 g Hoed oharet it aTfargfel et o |

2) ETET o G HHE FHAT ST aTfcrfet et & |

3) 31 % eyt r arfagfel ot 7 |

4) Fraret 38 e e aTfaqfel e 1 o6 A 31 forelt gAY s @1 31feres el qa ot |

Ques # :92

The famous case os Maula Bux V. Union of India A.I.LR. 1970 S.C.1955 relates to which one of the following ?
1) Earnest money and Security Deposit

2) Unliquidated damages

3) Quasi-contracts

4) Contingent contracts

RIS qFr T A FE,ALR.1970S.C.1955 FT GUFAG are fAwnfra 7 § frad grafeaa 2
D) 313 ere wa wfasgfa et

2) siferenfa et

3) 3 R

1) gATfAa wigert

Ques # :93

Codified Hindu law does not apply on which one of the following ?
1) Jains

2) Sikhs

3) Buddhists

4) Members of Scheduled Tribes

HigaTeag feg Rt Peifera # & frw wamr adi ey & 2
D St o
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2) el )
3 Sgt
4) TR mfeH A & Hewat ) |

Ques # :94

From which date The Hindu Marriage Act, came into effect ?
1) 18th May,1955

2) 30th June, 1955

3) 20th September,1955

4) 31st December, 1955

fooq aame srfafaraer wa @ oma o amar 2
D 1g8ag 1955 @

2) 30 51,1955 &

3) 20 #1955 &

4) 31 REF,1955 9

Ques # :95

By which one of the following two persons descended from a common ancestress but by different husbands are
related to each other ?

1) full-blood
2) half-blood
3) uterine-blood
4) natural blood

T € T @ P 3% Bieet TRl & o1 8 i U gEY @ ) weaieya @t
D) qu & (@am)

2) 31T & (e

3) gerex

%) vrepfas o &

Ques # :96

Up to what degree the Sapinda-relationship with reference to any person for marriage extends in the line of
ascent through the father ?

1) seven generations including himself
2) six generations including himself

3) five generations including himself
4) three generations including himself

faare ¢ frel safdra i afis arded 39 Rar & Fov arelt difdat 7 wer aF s st 2
D) w2 a1 anfaford aa gu ara dfet a
2) 2t P TR e g o it
3) et i EnEATRIE ) U At et o
Y T i afEafad #d gu i qifedt aw

Ques # :97

In which of the following case of the Hindu Marriage Act was held to be violative of Articles 14 and 21 of the
Indian constitution ?
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1) T. Sareetha V. Vankatasubiah
2) Saroj Rani V. Sudharshan Kumar
3) Harvinder kaur V. Harmandar Singh
4) Capt. C.N.. Gautam V. Smt. Saroj Gautam

fovesr F @ o a1e; o Ty T arfafarrer iy e 9 Y sty | & aregede 14 va 21 F1
JeoUeThRY AT 34T ?

D &rafer 3. deeysarn

2) TSt Tl 7. el FAR

3) iR T e

4) sroest d.ue. FitaH & e w0 AtaH

Ques # :98

"The child was born 171 days after the first Coitus between the petitioner and the respondent wife. The
delivery was normal and the child born was also normal. It was held that the petitioner was not the father of
the child.' The facts are related to :-

1) Alka Sharma V. Abhinesh Sharma

2) Kishore Sahu V. Snehprabha Sahu

3) Mahendra Nanavati V. Sushila Nanavati
4) Raghunath V. Vijaya

areff T gereff gl & 7w yuw daifgs geam & 171 fereT & e RS 1 ST g3, wqfa oft
AT oY [ eor R I B wreft Ry &1 frar 7dt ot (37 av grafeua g -

1) 3retent erAT &, 31Teter erAT

2) FoReiR TE o %16 1T 1E

3) 7 AEE 9. Feirelr AreArady

4) Ty 9. fasrar

Ques # :99

A decree for judicial separation as an alternative relief in divorce proceedings may be passed by the Court, if
the petition for divorce is founded on which of the following clause mentioned in Section 13(1) ?

D D
2) (V)
3) (VD)
4) (VID)

AHTeuH AT F T H =11 AF Jashvor Ay 3 aia hir s g § o fRFaw F=de g
FIag) # faag fAede fr a1 4R 13(1) # sfeaf@a Reaifea # @ Fa @g waraRa g 2

1) (In)
2) (V)
3) (VD)
4) (VII)

Ques # :100

Which one of the following is not correctly matched :-

1) Dipanwita Roy V. Ronobroto - DNA Test for allegation of infidelity

2) Vidhya Viswanathan V. Kartik Bala Krishnan - Mental Cruelty

3) Vinod Kumar Subbiah V. Saraswati Palaniappan - Cruelty as a ground for divorce
4) Swarajaya Lakshmi V. Padma Rao - Unsoundness of Mind

A d slaar e AT adie 2
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D) &roetdiier T2 7. A=ATseY I - B T T IRET0T Sraed 3ifaTsar & 3HRIT &g
2) faeaTfaeasres 9. Fifds STeIhSUTeTo - HTeA [ Heh FHIcT
3) e FHAR oA . FIEI ATelfeT et - Rl IaTE e & MR & &9 7
4) TS e . I3 T - A fApafedan

Ques # :101

Which one of the case is not related to Constructive desertion ?
1) Williams V. Williams

2) Lang V. Lang

3) Edwards V. Edwards

4) Buchler V. Buchler

A T A @ 991 91 9 FTRART T FFafaa AT 8 /
D) Bfoasg 9. [_feasg
2) ST &, o

3) vsadH §. UsasH

4) SUR 7. TIR

Ques # :102

Which one of the following is not correctly matched with reference to Hindu Succession Act, 1956 ?
1) Computation of degrees - Sec. 13

2) Right of Child in Womb - Sec. 20

3) Murderer disqualified - Sec. 25

4) Escheat - Sec. 28

feeq seaufsrl srffaae, 1956 & Weest & T A A ST W FrA AT 2
1) f2farat &hr gerorer - amr 13

2) 718t TEUT 319 &1 TSR - &RT 20

3) gearT fokga - &mr 25

4) e fAc - 9RT 28

Ques # :103

Which one of the following heirs in Class II of the Schedule Contained in Hindu Succession Act,1956 shall take
preference ? 1. Brother 2. Father 3. Brother's son Select the correct answer using the codes given above codes

1) 1,2 and 3

2)2,1 and 3

3) 2 only

4) 1 and 2

foeg scaRframY srftrforaar, 1956 #r sregere a9t 2 # srafeya aiat # frw wor 7 wraffear urea

g 2 1. 81, 2.1, 3. #1711 T WEY ST T IoATa S T 71T 1 H1 IAT HI U HIfor -
D 1,21a3

2) 2,14d3

3) Faer2

4 192

Ques # :104
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Which of the following Act came into force on 21st December, 1956 ?
1) Hindu Minority and Guardianship Act

2) Hindu Succession Act

3) Hindu adoption and Maintenance Act

4) Guardians and wards Act

et 7 @ Flaar rfATs 21 RaFR, 1956 F yad= & 3mar 2
1) Reg 3rTeaaaT vd wXeTehdr sfafaes

2) feg SeaifOeR fafaas

3) g gects T #10T AoT JifRfRTw

4) EeTeRar v giaurey st

Ques # :105

B' died in 1942 leaving behind him a widow 'P' and a son B1 . B1 also died leaving behind him a widow 'L'.
Sometime later 'L' remarried and then 'P' adopted a son in 1949. The adoption by 'P' was held invalid in which
decided case ?

1) Fakirappa V. Savtrewa

2) Kisni V. Ratna

3) Asha Bai Kate V. Vithal Bhika Nade
4) Dhanraj V. Suraj Bai

T Y 7Y 1942 g T€ 39 TS o far O @ a1 Ao F AT | f A shi g @ aw
I9e A1 o faerar oo &1 813 719, e 376 99 91e gHAfda W oarad i A 1949 A
&1 Gedd AT foraT | 'Y T geas Tgor fFa AT yaor & 3rder A aram -

D) oefrear &, waaar

2) foraett 9. T

3) 3T 9T FIe §. g AT AR

4) RIS 9. T 1S

Ques # :106

On which of the following ground a Hindu wife looses her Right to Separate residance and maintenance from
her husband ?

1) If she is unchaste

2) suffering from leprosy

3) becomes unsound mind

4) suffering from veneral disease

oot 7 & Fe 3R I 1S Reg Teett 319t afdr @ v frare & |1y $or qiwor &1 rfeR @t
adrg?

D) 7 ag srach & |

2) s P AN

3) reary AfedS T ET ST ¥ |

DI AT A NI

Ques # :107

Recently a single bench of Rajasthan High Court held that " a Hindu is competent to adopt child of same sex
irrespective of number of living biological sons or daughters." The view was taken by whom ?

1) Ajay Rastogi J.
2) J.K. Ranka J.
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3) P.K. Lohra J.
4) Govind Mathur J.

gl ) & TSTEYTE 3T ~ AT Y Tehel 415 o 4RO R o1 Y 1§ foreg 34 foiar & Rrep 1 aeash
TGOT FT bl ¢ 57X 8 3 Fohetett oft W & S Sifass g ar g 8F | a8 o=t e
~ATATefier SART YT 73T -

D) 3o T, o,

2) X, %, T, .

3) ot . ST, .

4) Mfaeg e, o1,

Ques # :108

Which one of the following case was followed by the Supreme Court while deciding Gita Hariharan V. Reserve
Bank of India (1999)2SCC228 ?

1) Panni Lal V. Rajinder Singh

2) Jijabai Vithalrao Gajre V. Pathan Khan

3) Chandanee Vidyavati Maddan V. Dr Kotilal
4) Manju Tiwari V. Rajendra Tiwari

et gRexe 7. Rard & 3itw 503 (1999)2va. €Y. 4).228 # ITaa# =ar e garT v 7w vy &
foFsT 7 @ o a1e 71 JregenTor v I 2

D) geatt ofrer 7. UfSteex g

2) ShreireTs fager Ta 1o &, IoTeT @rel

3) Ticsr faeaTad Acer . 3. HIraTe

4) 7y FAameY s Tote foarsy

Ques # :109

By which one of the following child can be given in adoption ?
1) adoptive father

2) Step father

3) Widowed father

4) Natural father without the consent of his divorced wife

TF To9 I Gead [Aediiehd A @ fFash ganT fear s awarg 2
1) 583 geae frar gar

2) 3H% Hicelm fdr garT

3) 38 faeR fdr gar

%) za% afie RrdT garT 3HH TATHYET Teei T AT & o

Ques # :110

An unmarried female has given birth to a son and during his life time, has taken another boy in adoption. This
adoption is of what type among the following ?

1) valid
2) Voidable
3) Void
4) irregular

v Hfarfea afRen o va g7 FY Sow o va 39 SHaer-F1er & v 37 a3% F ead A o fowm|
I ods AFliThd § FFT TRR FTE 2
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D) Rt
2) ot
3) g
4) sfrafad

Ques # :111

When a Hindu wife is not entitled to maintenance from her husband under Hindu Adoption & Maintenance
Act, 1956 ?

1) She is unchaste

2) She is imprisoned

3) She is suffering from virulent form of leprosy.
4) She is not obedient to her husband.

feeg aea® Ta sROT-NYoT AT, 2R 4e & Heaia T feg Teelt rqar afr @ HTOT-9Iwor aret iy
FfF N FTAE Y 2

D) ag srach @

2) 3P RIS & AT |

) agsaFss WA NI

4) g afd & 9fa 3Ry 8T § |

Ques # :112

Under Section 21 of the Hindu Adoption and Maintenance Act,1956 "dependents" does not mean which are of
the following relative ?

1) His father

2) His mother

3) His widow who has married again

4) His 20 years old illegitimate daughter

fé=g geat® U9 sRoUT-awoT AFATATA, 195631 4RT 21 & Headd AaF & Arafaf@a slad A
HAFAIT AL 2

1) g far

2) 3ghr Arar

3) saehr ferar foresY qo1: faTe & o |

4) suhr e adffer srerster

Ques # :113

Which one of the following is the natural guardians of a Hindu minor child ?
1) Father

2) Grand father

3) Grand mother

4) widowed step-mother

feeg 3rTca a9  Aufiis weE PefFra A asla
1) Ryar

2) arer

3) aréy

4) fgerar "ol AT
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Ques # :114

The transfer of immovable property of the Hindu minor by the natural guardian, without the previous
permission of the court shall be of what type ?

1) void

2) valid

3) vidable at the instance of the minor
4) irregular

foeg araTeaay Y 3rarer FFUfa T 38F AW iF WIaTF @, 7T Y qF AeqAfa & foaa
1T AT HAT YT 2

D e

2) Ry

3) 3rTCE Y IR0 9X IR0

) sfafad

Ques # :115

Regarding which one of the following the famous case of Hanooman Prasad Pandey V. Smt. Babooee Munraj
Kunwaree , 6 M.I.A.393 P.C. has laid down the law ?

1) powers of Hindu Manager or Natural Guardian
2) divorce

3) adoption

4) succession

AT THIG IS T AAH q1gE HoTeT Fa ,6 MLLA393IP.C. F WG a6 o favaifra & & frwr
¥ graey # R gfaafea

) feg ey 7 e wivaTen Sy arferait

2) faare fa=de

3) Gecan &

4) seaufaeR H

Ques # :116

Under Section 6 of Hindu Succession Act,1956 a daughter has been made a member of the Hindu coparcenery
with effect from which date ?

1) 1st August,2005

2) 9th September,2005
3) 31st October,2005

4) 30th November,2005

forg Scauftsr srfafaae, 1956 F1 4RT 63 T T ) feq WeTRAAT 7 HeTT Fa F TaArR=T AT
R

1) 1 3prea,2005 @

2) 9 fadFe,2005 &
3) 31 37FEaR,2005 @
4) 30 FAGFET,2005 &

Ques # :117

What is the total number of class I heirs in the Hindu Succession Act,1956 ?
1) Twelve
2) Fourteen
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3) Sixteen
4) Eighteen

ferg 3cauftsr srfafaaer 1956 7 wuw 79t & scauifawial & Fo gear a2
D sRE
2) aez
3) drerE
) 3oRE

Ques # :118

A Hindu male is survived by his adopted son, a natural son and a married daughter. His separate property
will devolve upon :-

1) his natural son alone.

2) is natural son and his married daughter equally.

3) his natural son, and his adopted son equally.

4) his natural son,his adopted son and his married daughter equally.

U feq To9 39a IS OF gead IF, U A fiE 99 U U fdarfed TN s1sa AT § | 39 forsh
wrafa e :-

D) Fraer 38 Safiie g7 a°r

2) 3u ufiie g7 1 vd farfea o # e

3) 30 Sl IF Ud 3HF Geald 7 I IR

4) 3a% A I3, 38% gede U7 U9 30T FAaried T &t SRR |

Ques # :119

A Hindu female is survived by her an illegitimate son, a legitimate son and a step daughter. Her property shall
devolve upon :-

1) all the three heirs in equal ratio

2) her legitimate son only

3) her illegitimate son and the legitimate son in equal ratio.
4) her legitimate son and her step daughter in equal ratio.

U fReg AT Iraet A Fad #1 U HUHT I, U 4T 9 U9 0F Hieroll T SI5a A T |
g gFafa A :-

D &t eaufosmRat s avreR 3rgara #)

2) 38% et I T FHae |

3) 38% 3TerETST I UF ST IF Y SR 391 # |

4) 35 et I3 U9 Hidel T Y areT 317 7 |

Ques # :120

A disqualified heir under the Hindu Succession Act, 1956 is a person who :-
1) has committed the murder of the deceased to inherit him.

2) if a female, has remarried to another male.

3) has renounced world.

4) has been suffering from mental disorder

feeg scaufaer srfafaas, 1956 ¥ srwaeta fRfEa scaufasr gar e -
D) foreeY Faes &1 geafa gt & 38 gear 47 |
2) Afy TR, A 38 3T TEW F fyarg ¥ o
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3) foras Goard UgoT & TordT |
4) S ATAE Wr A NRT |

Ques # :121

Marriage according to Mahomedan law is not a sacrament but a civil contract. This was held in the famous
case of :-

1) Abdul Fata Mahomed V. Russomoydhar Choudhary
2) Abdul Kadir v. Salima

3) A. Yusuf V. Sowramma

4) Anis Begum V. Muhammad Istafa

AReaw R & 3TaR e v GFaR 761 § afew v darh @fder ¢ [ae s fraife frar
mgﬁaaﬁ:-

1) 3reger ot AgFAE Il AR ey 3 |

2) 375q FIMET FaATH el 7 |

3) TIHE FATH FRFAT H |

%) 31TE T FATH FgFHAG SETHI A |

Ques # :122

In Mohmandan Law, Puberty is presumed, in the absence of evidence,on completion of the age of :-
1) 15 years
2) 16 years
3) 17 years
4) 18 years

AfEerw faftr F wrew & sromma F Aaemaryr AN I T, 37 T AR W -
D gegg 9§

2) Hrerg T

3) FE a8

4) 3roRE a¥

Ques # :123

A Muslim marriage without witnesses is of what type ?
1) Valid

2) irregular

3) void

4) voidable

fore aratet & e e rw yFR F R 2
D Rftea

2) sifrafaa

3) g

4) ot

Ques # :124

A muslim male has married his son's divorced wife. According to famous writer Mulla, what type of marriage
is this ?
1) void
2) valid
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3) voidable
4) irregular

T FHAATT T o 3T TF T TeATHET Tooit & fAh1e T foram | Ig e : IR @ gear &
AR e ghR & ?

D e

2) ity

3) el

4) sifrafaa

Ques # :125

In case of an irregular (fasid) marriage, the duration of Iddat will be :-
1) 4 months and 10 days

2) 3 courses

3) 45 days

4) 60 days

sfAafaa (wifle) Rare Ff Rufa & sgadr safar aeih -
DaamioRa

2) &1 AT T

3) 45 feT

4) 60 =T

Ques # :126

A Muslim marriage contracted without dower is :
1) void

2) voidable

3) valid

4) irregular

HeX & ferr HiTerT frare &1 3refaewr 3 -
D e

2) ot

3) Rt

) sifafad

Ques # :127

The muslim widow's right of retention of possession of husband's property in lieu of her dower debt gives her
the right to :-

1) sell the property

2) mortgage the property

3) gift the property

4) retain the possession only.

3eed AT F HUT & 6o Ufd Y FFITA W FealT Afgell H HRAFRAATE :
D) grafy sy sy &

2) gFafd & d4e 3@ H

3) gFafar &1 BT et &l

AN AN
4) Shrerel ool ST T@eT T
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Ques # :128

A muslim husband has divorced his wife by three pronouncements but married her again without undergoing
any other legal formalities. This second marriage will be :

1) void
2) irregular
3) voidable
4) wvalid

TF HHATT Iia o el Ieell Y it IR Fgad delteh & W 38 |ry,faan w1 deunfas
AtaaReard gt fFd ,garT fare 3 faram | 78 g@sr e g -

D ey

2) wfafaa

3) grgetoiy

1) A

Ques # :129

A HIBA to a person not yet in existence is :-
1) void

2) valid

3) irregular

4) voidable

ForA AFTF T H RN IS AT | :-
D g

2) ity

3) yfeafaa

4) ergatoiy

Ques # :130

A makes a gift to B of mango crop to be produced in 2018. This gift is :-
1) valid

2) voidable

3) void

4) irregular

3, TR 2018H YT 1 arel T FrdgrarR N AT FaT 2 [Tg a1 :-
D ftmeg

2) ot

3) o

4 feaf@a

Ques # :131

The right of pre-emption based on vicinage was declared by the Supreme Court to be unconstitutional in the
case of :-

1) Bhav Ram V. Baijnath
2) Abdur Kadir V. Salima
3) Habibur Rahman V. Altaf Ali
4) Maina Bibi V. chaudhary Akil Ahmed
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TSI F TR T §HYPT & HTAFR F Fafed sIaed A i FIR arar:
D a5 & se1md ST

2) 37egel FIER TATH AT 7 |

3) GeTSNE AT S=TTH 3TelclTth 3l H |

4) e ey eI Therdy 3rhret A 7|

Ques # :132

After payment of funeral expenses and debts and without the consent of the hiers (after the death of the
testator) a mahomedan can't by will dispose of more than :-

1) One half of the surplus of his estate
2) one third of the surplus of his estate
3) one fourth of the surplus of his estate
4) one fifth of the surplus of his estate

STl UG Fall I P & A1 (T THITFHAT AT Fcg F qeuTd aIREl A ggafa & faem) v
HAEHTT AT GFIGT Y FHIT 74T FT FavelT :-

1) Qrw wFger & 3o e @ s3mer

2) QY gFYET & Ueh fagTs REd ¥ Fa1er

3) QY HFYer & e AturS FET @ S31Er

4) QY FFUET & grad ey ¥ S1er

Ques # :133

A bequest may be made to a child in the womb provided it is born within:-
1) three months from the date of the will

2) four months from the date oh the will

3) five months from the date of the will

4) six months from the date of the will

U Y RAY F 98T H THTS 1 51 Fhell ¢ T20cf 1 T8 THIT A1 TG @ oA A AATE :-
D3am#
2) 47EH
3saAEH
1) 6 A H

Ques # :134

A wagqf can not be created for the construction of a:-
1) Sarai

2) University

3) Hospital

4) Church

U T FT Golel sTa! AT ST HFhell :
D e & feior & |

2) faeafacrera & fA#ATT 8 |

3) RafsrcaTer & fasor &g |

4) farsfrers & o &
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Ques # :135

"On the whole , law Professors are not adequately trained in the technique of non-doctrinal empirical
research." The statement was made by -

1) Ernest M. Jones

2) Leonard G. Boonin.
3) O.C. Jensen

4) Julius Stone

"ol Ao fafer & mard Ik Aegifas srepsra v renRa @TPaReren) ater Air Hfaat 7 wea wor
yiRIf@e € € | g8 Fu= B

D) waree va. sieq gan

2) fraeTs S, gt garT

3) 3 T AT gRT

4) e T garT

Ques # :136

"Interview" may be regarded as a systematic method by which a person enters more or less imaginatively into
the life of a comparative stranger." This definition was given by-

1) P.V.Young

2) C. Selltiz

3) Bogardus

4) Goode & Hatt

"HIETcHR " U Y sqafeyd O § oras areas @ v safda g & saies siae § wedarcans
T § T FIAT § AT 30 [T VAT FeledTead AR § | 76 TR &y ar$ -

D) oy &y a7 gam

2) & A earT

SRS ECI

4) a7 7 e @

Ques # :137

According to formalness, the types of interview are :-
1) Personal and Group

2) Structural and Unstructural

3) Pre-arranged and casual

4) Diagnostic & Treatment

SR dar (FRATHH) & HTUR T JI&TTchHR F IFR ¢ :-
D) zfeaerd va amfes

2) e v areit

3) qd-caafeyd e 3hieAs

4) RASTATcHS U9 3UaRIcHS

Ques # :138

"Schedule is the name usually applied to a set of questions which are asked and filled by an interviewer in a
face to face situation with another." This view was taken by -

1) Mc Curmic
2) Bogardus
3) M.H. Gobal
4) Goode and Hatt
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"I T TAT & TF g & forT 3TN F oA1AT ST ATl A1 § AT Teh WIETeHR Feall GanT
3 FfFadl & IAA-a A U A @ AR M I 8 | T FUT§ -

D 3 i &r

2) SemsE

3) vA. T, e

YD agicH

Ques # :139

Which one is not a type of '""Schedule' ?
1) Observation Schedule

2) Document Schedule

3) Focussed Schedule

4) Evaluation Schedule

o @ Flaran "I FTTFR AG G 2
D) Fieror (3rareiienst) 3T

) ST S

) SHFe SR

Y seaienat Taeh

Ques # :140

A questionnare is a list of questions sent to a number of persons for them to answer. It secures standardised
results that can be tabulated and treated statistically." Who took the above view ?

1) Bogardus

2) Goode & Hatt
3) P.V. Young

4) Lundberg

" geaTael "faffes safFaal Y e & F e aRa i o1f weaAt g T | 589 W AR
qRoTs gfaste gt § e aTivfieg va wifeadisd R o aar § |9 eieaior A ¥ 2
D) gremsw

2 a3 agte

3) iy dr g

4) gusad

Ques # :141

On what basis questionnaire can be classified into : open,closed,mixed and pictorial ?
1) Nature

2) Characteristics

3) Size

4) object

forer 3R W weaATaeh F qeffea frar S awar @ : golt, 97, AT v REwa A 2
D spfer

2) aqoit

3) 3R

4)
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32"

Ques # :142

Which one is not Correct ?

1) Social survey may be conducted on professional basis

2) Social research is not usually conducted on professional basis.
3) In Social Survey hypothesis is necessarily required

4) In social research hypothesis is very essential.

frrT & @ Flaar g adi g 2

1) granfores gdeqor earaaiRen(dthereel) 3MUR WX 3T ST HehaT &)
2) FrATTSTe QN UTY: SATaETe YR W Harfad 78 g & |

3) FTATTSE GEET0T A YTdFheTsT HTa2de &9 3 ¥ |

) graTToren Qe 3 IR WA (S§) HTaRTH g

Ques # :143

The last phase of the journey in research is -
1) Formulating the problem

2) Collecting the data

3) Analysing the data

4) Report writing

QIYer JraT 1 I fAH Ao R -

1) gorean i egafeyd sifdeafEa
2) STeT (317hSY HT)THIEOT

3) grer fa2oryor

4) RE-JrE (FfadesT-or@e)

Ques # :144

Which one is not a source of finding a research problem ?

1) Research Supervisor

2) Research Literature

3) Research methods

4) List of research priority areas drawn by the research funding agencies.

QYT WHEAT Y gaat (TAT o9TTeY) T ooy H A Flrar AT 7181 8 2

D) efver 7edare

2) eer AnfRea

3) ofrer Sfa=t

4) 2lYer I FaTeT I ATel HTRFTON EIRT 2Mer JreafFehar & avat v g |

Ques # :145

"Hypothesis is a proposition which can be put to a test to determine its validity. It may be prove to be correct
or incorrect." This statement was made by -

1) Goode & Hatt
2) Barr & Scates
3) John W. Best
4) M.C. Guigan

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/98- Law-l/sesspack/gpimages/QP_98-Law-1l.html 42/44



28/06/2016 College Lecturer Exam - Law-I|

"JrFR T T T YEATIT § ST Fcaar # g F & o sgh e A ST awdr & (T8

UG AT IHYE () AG QY AHell § " TE FUA E :-
D agica

2) 5% T TheH AT

3) SifeT Se] IEC HT

) wa. . STt

Ques # :146

Which one of the following is not a feature of doctrinal research ?
1) It lays much emphasis upon legal principles.

2) It is more concerned with social values & people.

3) It involves empirical study.

4) It needs knowledge of other disciplines.

fAF 1 & @ wlaar  Agifaw aver " wT 80T 2

D) 7g fafer & fagiat W R sar g & |

2) 75 AT et U ST (eeth) & fere Feafaa |
3) gue INTHTAS IETTA Feadfad ¢ |

) sgen foT 31 @3 & A Hr THA L |

Ques # :147

According to Goode & Hatt which one of the following is not a source of hypothesis ?
1) Analogies

2) General Culture

3) Scientific theory

4) Public Experience

T3 T gic & AR 47T & & FlaaT TaFwevs F1 FE&d 781 ¢
D) argeaame

2) AT TEBI
3) dafors fagea
4) e 3179a

Ques # :148

Which one is not an advantage of sampling method ?
1) Economy of Resources

2) Economy of Time

3) Adaptability

4) Sampling Error

foreeler (@emusfa &1 far A slaar e adi 8 2
D) wramerstt i e

2) gAe i Fad

) st

4) stoe 7 Hafoler 3fe

Ques # :149
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Which one is not a method of random sampling ?
1) Ad Hoc

2) Lottery

3) Tipett's number

4) Grid System

A § Fiad z7 dufeior @u g dfaadig 2
D) vs gl ()

2) Sredy

3) fede fr gwar

1) firs faeeH (cgasam)

Ques # :150

Which one of the following is not correctly matched ?
1) Survey - Sample

2) Schedule - Quota

3) Sampling - Stratified

4) Interview - Clinical

frra A A FlaaT g AT AR 2
D) gdfegor - Faa

2) sreTg-farerdrer

3) Jufdiar (e -TaRa

4) FTETchR - AeTiae (Fafaesmen
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